

LEBANON CRISIS

SUPPORT FUNDING FOR THE DISPLACED

WHO WE ARE?

- residual is a Lebanese non-profit organization specializing in initiating and managing sustainable development projects across all regions of Lebanon.
- In light of the unprecedented humanitarian crisis in Lebanon, Istidama is currently involved in providing aid (mattresses, pillows, blankets, food, medications, sanitary items, clothes and shoes) to the displaced who are staying under dire conditions in schools, centers and apartments (Crisis Support).

For more information, please visit our website:

www.istidamalb.com

To donate:

https://fundahope.com/en/campaigns/lebanon-war-crisis





Ziyad Baroud

FOUNDERS



Rindala Beydoun



Antoine Haddad



Malek Mroueh

HOW DOES ISTIDAMA WORK?

Istidama works in the following manner:

- 1. In addition to various schools and centers, it has been able to reach and vet (via a network of local "Crisis Cells" made up of volunteers in various regions) families staying in apartments who have been under-served thereby balancing the distribution of aid between the displaced staying in schools/centers and those in apartments.
- 2. All the supplies and goods are sourced from Lebanese manufacturers and MADE IN LEBANON.
- 3. Its staff is paid (salaries + benefits) by the founders and is not charged to the Crisis Support Project while also heavily relying on volunteers who work tirelessly for long hours for free.

HOW DOES ISTIDAMA WORK?

- 4. Its founders have been able to use their contacts to:
 - a. Obtain supplies for exceptionally low prices.
 - b. Rent a warehouse of 400 sq.m. for free.
 - c. Obtain transportation to all regions from Advanced Car Rental for free.
 - d. Receive several thousand carton boxes for free as a donation from Gemayel Freres, a manufacturer of packaging materials in Lebanon.

RECIPIENT CENTERS AND FAMILIES

	Center	Location	Displaced Persons
1	Amliyeh High School	Ras El Nabaa	740
2	Aramoun Crisis Cell (serving various schools, centers and vetted families in apartments)	Aramoun	3,620
3	Baabda High School (for Girls)	Baabda	250
4	Baaseer Public School	Baaseer	140
5	Baissour Crisis Cell (serving various schools, centers and vetted families in apartments)	Baaseer	3600
6	Bednayel Public School (serving the school and vetted families in apartments)	Bednayel	50
7	Beit Aam (serving vetted families in apartments)	Achrafieh	150
8	Broumana Middle Public School	Broumana	150
9	Burj Abi Haidar Centrality (serving vetted families in apartments)	Burj Abi Haidar	650
10	Care Off (serving vetted families in apartments)	Beirut	550
11	Choueifat Crisis Cell (serving various schools, centers and vetted families in apartments)	Choueifat	1500
12	Heart to Rachaya (serving vetted families in apartments)	Rachaya	250
13	Hussein Masoud School	Bchamoun	540
14	Jal El Dib Complimentary School	Jal Dib	360
15	Lebanese Spotlight	Several Centers	686
16	Lebanese University in Fanar / Burj Abi Haidar Centrality	Fanar	300
17	Lebanese University Unesco	Unesco	1000
	Madame Aoun School	Furn El Chebek	500
19	Makassed School in Baaseer	Baaseer	160
20	Mayli Library and Cafe (Douris)	Zouk and Zahle	300
21	Nabatieh Crisis Cell (serving vetted families in apartments)	Several Regions	500
	SAIL for Change - AUB	Beirut and Damour	2,000
	Saint Joseph School	Beirut	1200
24	Sheikh Reda Farhat School	Burj Hammoud - Nabaa	350
25	Sour Crisis Cell (serving vetted families in apartments)	Several Regions	334
TOT	AL		19,880

Total Number of Displaced Persons Reached ≈ 20,000

Number of Registered

SUPPLIES AND EXPENSES FROM 24 SEP TO 11 OCT

Supplier	Туре	Amount	
Abou Jaber Lactofood	Milk (54 boxes)	\$2,484	
	Milk (58 boxes)	\$2,900	
OTAL			\$5,384
	- 1 (100 l		4
Al Basha Foods	Food cans (102 boxes)		\$1,966
Brayteh	Solar Lights (1,728 pieces)		\$4,298
	1500 : 0 040	ho 500	
	Mattresses (500 pieces @ \$19)	\$9,500	
Comfort Home (Ajaltoun)	Pillows (210 pieces @ \$3.9)	\$819	
(Blankets (500 pieces @ \$8.5)	\$4,250	
	Pillows (140 pieces @ \$3.9)	\$546	
TOTAL			\$15,115
		T.	
	Clothes (2,500 pieces)	\$15,800	
Abdel Sater Establishment	Shoes (3,500 pairs)	\$10,000	
Abdel Sater Establishinent	Clothes (15,000 pieces)	\$10,000	
	Underwear (11,000 pieces)	\$3,300	
OTAL			\$39,100
Darwish Shop	Mattresses (95 pieces @ \$14)		\$1,330
Glow	Hygiene Supplies (300 boxes)	\$900	
	Hygiene Supplies (1,000 boxes)	\$7,300	
OTAL			\$8,200
		1.	
	Mattresses (150 pieces @ \$15)	\$2,250	
nternational Logistics Services	Pillows (150 pieces @ \$3)	\$450	
	Blankets (150 pieces @ \$7.5)	\$1,125	
OTAL			\$3,825
		·	
Magic Trading Sanitary	Diapers/Pads (900 boxes)		\$2,535
11110 /011 = 10	- 10 (000 l		4.000
Rachidi Group / Nina Food Company	Food Cans (239 boxes)		\$4,862
	Mattresses (30 pieces)		
Duzai Shop			64.250
·	Pillows (60 pieces)		\$1,350
	Transportation	\$1,421	
		1	
diameter and	FundaHope Link	\$7,125	
Miscellaneous	Labor	\$873	
	Bank Fees	\$552	
	Warehouse Set-Up & Packaging	\$1,174	4
TOTAL			\$11,145
		4	
ΓΟΤΑL		\$99,110	

FundaHope Fundraising Link \$82,312 Individual Donors \$33,600 TOTAL \$115,912

REVENUES

Remaining Balance: \$115,912 - \$99,110 = \$16,802 (To be paid upon delivery of pending orders of supplies)

Istidama is seeking additional funding for more initiatives.



THANK YOU